__

Up-Rite Desk Mounted
Sit/Stand Workstation
Single Monitor

_

Assembly Instructions



91113

Part Drawing Description Qty Part Drawing Description Qty
é Hardware List
P1 Keyboard Top 1EA
A @W Screw M6*13mm 8 EA
B \] Allen Wrench 1EA
P2 1EA
C Wire Wrap 1EA
P3 N Keyboard Support 1 EA
D H Tension Plate 2 EA
»
P
E @’ screw M8*70mm 2 EA
P4 Monitor Mount 1 EA
F @»}W Screw M8*12mm 2 EA
=
P5 S=y Mount Bar 1EA




Assembly Instructions

ReAD THROUGH INSTRUCTIONS FROM BEGINNING
TO END BEFORE STARTING TO ASSEMBLE UNIT.
1.) Identify and Seperate all the parts to your new Workstation.

2) Slide the Mount Bar (P5) under the clamp section of the Support Post (P2). Loosely attach
using two Screws (F) and two Screws (E) as shown in illustration #1.

llustration # 1

3.) Loosen the two Allen Recess Screws in the rear section of the Support Post’s (P2) table
clamp. Next, loosen the two Allen Recess Screws in the top section . Slide the Support
Post (P2) onto the back of the table you will be using. Tighten the two top Screws (E)
using Allen Wrench (C) untill the Support Post is firmly in place. Tighten the two Screws (F)
in the rear of the clamp to lock the unitin place. See illustration #2.

llustration # 2

Your
Table




4.) Attach the Keyboard Support (P3) to the plate on the front of the Support Post (P2) using
two Screws (A). Tighten Screws with Allen Wrench as shown in illustration #3.

Illustration # 3

5.) Attach the Keyboard Top (P1) to the Keyboard Support using six Screws (A) as shown in
illustration #4. Tighten Screws using Allen Wrench.

Illustration # 4




6.)  Loosen the clamp lever on the Monitor Mount (P4) and insert two Tension Plates (D) on the sides. Slide the
Monitor Mount down the vertical post of the Support Post (P3). Clamp the lever down to secure at your height
setting. See illustration # 5.

llustration #5

7.) Use Wire Wrap (D) to manage electrical cables after your equipment is installed.

llustration # 6

91113 09-24-15

ol



